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Note that both sides of each page may have printed material.

Instructions:
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Read the instructions.
Panic!!! Kidding, don’t panic! | repeat, do NOT panic!
Complete all problems in the actual test. Bonus problems are, of course, optional.

Show ALL your work to receive full credit. You will get O credit for simply writing down the
answers (unless it’s a case of fill in the blank or state a definition, etc.)

Write neatly so that | am able to follow your sequence of steps and box your answers.

Read through the exam and complete the problems that are easy (for you) first!

No scrap paper, calculators, notes or other outside aids allowed—including divine intervention,
telepathy, knowledge osmosis, the smart kid that may be sitting beside you or that friend you
might be thinking of texting.

In fact, cell phones should be out of sight!

Use the correct notation and write what you mean! x? and x2 are not the same thing, for
example, and | will grade accordingly.

Do NOT commit any of the blasphemies or mistakes | mentioned in the syllabus. | will actually
mete out punishment in the way | said | would. | wasn’t kidding.

Other than that, have fun and good luck!

Remember: Avoid confusion




1. Compute the following integrals (10 points each):

(a) J 3x® cosx dx
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(b) J’msecﬁx dx

(/(J': «z-mwx
ﬂq“’k = CSec v X 0(\@

fwh“*&f%w
/

f‘ 17. L+_\
= Aﬁwwwwu;mm

Sl

l/.,_
=

(mf & <+ma L (Jw

W




e
(©) fxs'/zlnx dx

1 S/—;
= Inx Jv = dx
= 'r/-L

a{uw-—of;-t V= 5
’”"‘lnx*lf Sholx

f}(ﬁh'!n‘x 0//
- %X“]“X"?ﬁ -
-~ % g T b
=) P ey . ..~..,,"i;,27'+~-.fil
: a’f; % lnxe ol x =€ Y &9
L
- L_Q.E + b 8
“49 49

(d)fx2—6x+1
x2 —6x—7

X’L‘C:.X _74’% 01?(
X bx—7

‘\

j( (m )(x+1) )”&

e

;T;\,\[X, 1= mw; +C |

W\

/-
e

*
ol

S (6

@% e
x=1| 4 C |
X* + {\A'H C |

RS




L SR
a{x-:'? 68 @0/9

w'zc,,ae/é »@\,\

— Z.Wf(a-» c0s28) 4O

ll

/@ I cmOms@\) C,

- | w-x* )+ C
ZW( ﬁx\ x).

i\

- '-—_,.,-'

1\

a7 (6 55m26)+ C 2 6= s(%)

2. Write down the partial fractions decompaosition of the following. Do not attempt to solve for the

arbitrary constants (2 points each):
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3. Set up (you should leave your answer as a sum of fractions ) the approximations for
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4. For each of the integrals below: if the integ
why. (10 points each) -

(a) f 2xe ¥ dx
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ral is convergent, find its value; if it is divergent, show



Bonus Problems: Set up integrals to find the area of the region bounded by the indicated curves.

(a) x = y?and x = 2 — y¥?, include a sketch and shade the described region (5 points)
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(b) y = 3x® —x? — 10x and y = —X* + 2x. Show how you got your points of intersection and
how you chose which function to put first. (10 points)
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Remember: Math is fun, math is beautiful, this test was not hard

And there is no spoon.
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